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SECTION-I  

NOTE: (i) Answer all the questions.             (ii) Each question carries ½ mark.   6× ½ = 3 marks 

1. When did the official language ACT was passed? 

2. Identify the wrong pair  

a. SAD – Punjab    b.  JKNC – Jharkhand   c. DMK – Tamilnadu 

3. Which organisation is represented by adjacent Emblem? 

4. Who is one of the famous leader of the NBA? 

5. Fill the flow chart CIO  SIO   

6. Expand UNESCO  
Section-II 

NOTE : (i) Answer all the questions.  (ii) Each question carries 1 marks.     4× 1 = 4 marks 
7. Write about 73rd and 74th amendments in the Constitution of India. 

8. What is policy paralysis? 

9. What are the main objectives of NBA? 

10. What is the aim of Lok Adalat? 
Section-III 

NOTE : (i) Answer all the questions.  (ii) Each question carries 2 marks.      3× 2 = 6 marks 
11. Do you think “ Single party democracy “ would have been a better alternative to multi- party democracy? 

12. What steps should be taken to build lasting peace between India and Pakistan? 

13. What type of Information is not accessible to the citizens? 
Section-IV 

NOTE : (i) Answer all the questions using internal choice.  (ii) Each question carries 4 marks.   3× 4 = 12 marks  
14. A. What were the major changes in political system after 1967 elections?   (OR) 

B. How the people in movement see the process of resettlement promises? 

15. A. Make a table from the following pie charts. 
 (OR)  
B  Read the given data and answer the following questions.  

i. Which south India Regional parties participated in the 

government of the National front? 

ii. What is meant by coalition? 

iii. Which party was a partner of all three coallition 

Governments? 

iv. Expand NDA? 

16. A. Locate any four permanent members of the security 

council in the given map. (OR) 

B  Locate these in the map 1.  Sweedan  2. Belgium 3. Promised land  4. Yugoslovia 
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eT~+|¿ú :kí+|¸óTßÃ XĆgeTT - 4 |¿ć>×ü kí<ēªq eT~+|¿ú |¿ÏßÃ¬ 2019-20 d¿eTjāT+ : 8.45 - 10.00 

 >×]w¿ė eösáTø\T : 25 eö 

¹dßÃ¬H®-I 
d¿ö#āq: n³µ ć|¿XĘµ\åÃ´ èy°«T\T ćy°jāTTeTT. ć|¿ü ć|¿XĘµåÃ´ ½ eösáTø ¢eç«&£TqT.     6× ½ = 3 eö 
1. n~ēßÑ]ßÃ uēÒcí#āÓÜ+ m|¿î&£T nyĎö~+#ā«&­+~? 

2. ćßČ+~ y°{Č ĝë ôā|¿îèôāqT >×T]ď+#ā+&­.   n.  SAD – |¿+CÒuù     .  JKNC – CÒsá©+&®     ¢.  DMK – ôā$TþĘH°&£T 

3. ć|¿ßÃøq #āö|Þq >×TsáTď @ d¿+d¿æåÃ´ #Ď+~q~? 

4. qsá¨<±«#°y= n+<ãþĘq eTTKË ¶<ªËeT H°jāTåÃ´&£T mesáT? 

5. § bĞÂ#°sYÜ³ ³+|¿+&­. Ùß+ć<ª d¿eö#°sá n~ēßÑ]  s°ćw¿Ü d¿eö#°sá n~ēßÑ]  

6. UNESCO qT $d¿ď]+#ā+&­? 

¹dßÃ¬H® ςII 
d¿ö#āq: n³µ ć|¿XĘµ\åÃ´ èy°«T\T ćy°jāTTeTT. ć|¿ü ć|¿XĘµåÃ´ 1 eösáTø ¢eç«&£TqT.     4×1=4 eö 
7. 73 eT]jāTT 74 e s°CÒË+>× d¿esáD\ >×T]+Ú s°jāT+&­. 
8. $<±q |¿ßÃ¬bíôā+ n+fđ @$T{Č? 

9. qsá¨<±«#°y= n+<ãþĘq eTTKË ¶<ěýXĆ\T @$? 

10. ĝëßę n<±\ôY eTTKË ¶<ěýXĘ+ @$T{Č? 

¹dßÃ¬H® ςIII  
d¿ö#āq: n³µ ć|¿XĘµ\åÃ´ èy°«T\T ćy°jāTTeTT. ć|¿ü ć|¿XĘµåÃ´ 2 eösáTø\T ¢eç«&£TqT.  3×2=6 eö 
11. |¿\T bíÏÜ\ ć|¿CÒkíçeTË+ôã bĕ*½dď Û @ßÃ bíÏÜ ć|¿CÒkíçeTË+ Õ yĎTsáTâ>õq ć|¿ô°ËeTµjāT+>Ñ ¶+&ě~. § y°ËUÒËôã Ěeú @ßÁuē¤$kíďy°? 

12. uēÒsáôā bíßČkíďH®\ eT<ēªË XĆXĘçôāXĆ+ü HĎ\ß=\î&¦³ßČ rd¿Tß=e\dÞq #āsáË ĝđ$? 

13. @ $<ēªyĎTÎq d¿eö#°sá+ ć|¿è\åÃ´ n+<ªTuÒÓTĝÄ ¶+&£<ªT? 

¹dßÃ¬H® ςIV  
d¿ö#āq: n³µ ć|¿XĘµ\åÃ´ èy°«T\T ćy°jāTTeTT. ć|¿ü ć|¿XĘµåÃ´ 4 eösáTø\T ¢eç«&£TqT. ć|¿ü ć|¿XĘµåÃ´ n+ôāsáZôā m+|ÞßÃ ßÃ\<ªT. 3×4=12 eö 
14. A. 1967 m³µßÃ\ ôāsáTy°ôā s°èßÁjāT eËed¿æĝë eÚìq eösáTî\T   
@$?      (ĝđ<±) 

B  |¿úqs°y°d¿ y°>ÑæH°\qT ¶<ªËeT+ĝÄ³ ć|¿è\T mĝÒ |¿]o*d¿TďH°µsáT? 

15. A. ć|¿ßÃøq ¢eç«&­q ¹|õ#°sYÜ  <ē±sá+>Ñ |¿{ČÜßÃqT ôājāösáT #ějāT+&­.
   (ĝđ<±) 

B   ć|¿ßÃøq ¢eç«&­q d¿eö#°sá+  <ē±sá+>Ñ ćßČ+~ ć|¿XĘµ\åÃ´  
 èy°«T\T  s°jāT+&­?  

1. Hěw¿qĝù ć|¿+{ùĝÄ uēÒ>×kíçeTTĝéõq <ªßČ¬D uēÒsáôā<ěXĘ ćbí+rjāT
 bíÏÜ\T @$T? 

2.   d¿+ßÁsá² ć|¿uē¤Tôāç+ n+fđ @$T{Č? 
3.  eTö&£T d¿+ßÁsá² ć|¿uē¤Tô°ç\ĝë uēÒ>×kíç$T bíÏÜ @~? 
4.   NDA qT $d¿ď]+#ā+&­? 

16. A. uē¤ć<ªô° eT+&£*ĝë³ d¿uē¤Ë<ěXĆ\ĝë @yĎõH° H°*Z+{Č³ ć|¿|¿+#ā|¿Ó+ĝë >×T]ď+#ā+&­. (ĝđ<±) 

B  .1 dóç&£H®   2. ué*ÈjāT+   3. y°>Ñæôāďuē¤ö$T  4. jāTT>ãkĞÂ$jāö H°*Z+{Č³ ć|¿|¿+#ā|¿Ó+ĝë >×T]ď+#ā+&­. 



 


